PART € —- (5 % 8 =40 marks)
Answer ALL questions, choosing either (a) or (b).
Rach anawer should not exceed 600 waords.
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16.

18,

14

(n) What are pathogen related (PR) proteins? SAMI 31
Write in detail.
by Give detailed notes on cork layer and write B.Sc. (CBCS) ?\E;}[‘ELE l]j“EﬁM]NATIOB’
down its defense mechanism, s 2049,
(a) Qive detailed notes on inducible structural Third Semester
defenses of plants against pathogens.
Qr Microbiology — Allied
U L e PLANT PATHOLOGY BIOFERTILIZERS AND
(i) Plantobodies BIOPESTICIDES
(11}  Guinones = s e
(i) Oxidative bursis (For those who joined in July 2016 griwards)
(a) Write notes on Black stem rust of wheat. Time ; Three hours Maximum : 75 marks
Of PART A — (10 x 1 = 10 marks)
(bj Give the p athogenmeity, prevention and Anawer ALL guestions.
impact of white rusat of erucifors. (‘hoose the gorrect answer :
(a) Write down the impertance of Whizobium as 1. Tirst of ali microscope discovered by:
biafertilizer, Wrile down their velationship (a) Needham {by Spallanzani
with plants. () Teeuwenhoeck (d) Koch
Or 9. Steomais . iy IR X
(b)  Add detailed notes on VANM. (a) Aempact somatic hyphac with fruil bodics
. , : (b) Loosely interwoven hyphae
() How Trichodrema species played a role us (cy Asmall hyphal branch
hiopesticide, & (d) A group of epores,
= : 3. What is the proteclive waxy layer on the surface ol
(b) Write down the mode of action of Bacillus plants called?
thuringiensis on intestine of insects. (a) Spore (b) Lleaf
) Root (d) Cuticle
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PARTB —(B5x3= 25 marks)

=1

10.

The inhibitor present in plant cells

(a) Phenolics (by Saponins

(¢) Quinenes (@) All the above
White rust of cruciier iy caused by

(a) Puceinia Utilago

(c) Cystopus (d) Peziza

Alternaria sclani causes
(a) late blight of potato
(b) wart of potato

(¢) early blight of potato
(d) leaf curl of potato

Azolla as piofertilizer, IMEreascs the yield of mce

fields by
() 10% by 20%
(c) B30% (d) BH0%

Which of the fallowing 1s the pair of biofertilizers?
(a) Rhizobium and grasses

(b) Azolla and BGA

(c) Nostoc and legumo

(d) Salmonella and E.eoli

Tngecticides that act by permeating the entire
plant are said to be ' '
(@) Porous inaecticides

() Systemic ingecticides

(c} Clontact poisons

{d) Penetrating pesticides

The potential of a pesticide for cansing damage to
plants 18 1t

(n) defoliation ability (b)
(c) ph}ft.atﬂxi'xity {d}
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lethal dose
chronicity

11.

1%.

13.

14.

16,

Answer AlL questions, choozing either (a) or (b,

Kach amsw.er'a should not exceed 250 words.

(a) Add short notes on symploms associated
with microbial plant digoases.
O

(by Write down the importance of plant disgases

(a) Ilaborate the disease cycle and their mode of
pathogenicity.
Or

by Give the mode of infection, invasion and
eolonization of hacterial plant pathogens

(a)  Write down the disease caused by
Phytophthoria infestarea.

O
(by Write notes on ergot of rye.

(a) Give the importance of Azospiriilum.
Or

(b) Add notes on Nostoc

() Write short notes on Agrobacteriug

tumifaciens
O

(hy Add notes on nuclear pa]yhedt'uﬂiﬂ Virus,
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